Best model for HELP J143101.182+342736.963 at z = 1.058 x2=0.92
OPTx2=0.51 IRy?=2.71 threshold (OPT IR)=16.46 [um]

2
10 3 . Stellar attenuated
i e Stellar unattenuated
L m —— Dust emission
101 E —— AGN emission
E T = Model spectrum
] : ® Model fluxes
100 5 [ Observed fluxes
>
=
é 10—1 _
X
=} PP i
—_ _ m S
L 1072 Jormemmef /
] ! 3
1073 3
X074 5
=} E
= 1 3
= ] ==f=(Obs-Mod)/Obs
S ]
S
n
] o e - e D e e ] ——————————————
o ]
) ]
2 ]
S ]
o -1
()
(o'

10° 10! 102 103 10% 10 A
Observed wavelength [um] o



